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chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 101,907
23l 37,235 65,462 N28,227
101 14 Hl 37,235 65,462 N28,227
03 RIAHAZZ2 T2+ 37,235 65,462 N28,227
OBMBL 22X E(HEARA 37,235
=lles 1,611,410& 19,337
oca0iza 1,611,410& 6,446
ocSxgfsd 50,0003 600
oXHTHTE 150,000& 1,800
o xd 90,0003 1,080
o Z AU GAH| 120,000& 1,440
o A E =4I 80,000 = 1¥ 960
o XN R 110,000& = 1H 1,320
o FE S IHHI 1,611,410& * 1 1,934
o A2 =G 19,3003 = 2Al2t 464
CcHIIRSFI=E 102,960 * 1H 1,854
NeSstsells 25 ARNA(2D) 33,149 30,007 3,142
= 4,000
Al 29,149
101 124 dl 33,149 30,007 3,142
= 4,000
Al 29,149
03 RIAHAZZ2E = 33,149 30,007 3,142
OX%Est=sgdlls 83 224 E= 33,149
=JIEg= 1,424,370& » 1% 17,093
= 4,000
Al 13,093
o032 1,424,370 * 194 5,698
oXMATHSY 150,000& = 1H 1,800
o ZUZ A 120,000& » 1Y 1,440
oA+ 150,000& = 1H 1,800
oXNRad 110,000& = 1H 1,320
cItExd 20,000& = 1H 240
o F A FOHI 1,424,370 * 19H 1,710
cHIRSFI=E 90,960 * 1¥ 1,638
o A2l =&
17,0503 = 1H » 2A[2¢ 410
SJIZHE SHEAN 29 X 35,523 29,816 5,707
101 @124l 35,523 29,816 5,707
03 I AHA2ZZ2HE > 35,523 29,816 5,707
OSSN 2Y 224 BEx(8H2AR
58) 35,523




2N
X ZH -
L= B

el

A= HEH
HedZHl(sgIllsHH)
22|

CHB S (BH) - NRAY - BES il 2t
PR 1,478,800& * 1¥H « 17,746
SENI0 =) 1,478,800 * 14 5,916
ostgeay 50,0008 * 19 600
oXNAEHALE 150,000 = 1Y 1,800
oEasY 90,000& » 1H 1,080
oM MFAYH| 120,000& * 1H 1,440
o JtAHIE &= Hl 80,000& *» 1H 960
oY 110,000 * 1 1,320
cIIExY 60,000& » 1H 720
o " A S| 1,478,800& * 1H 1,775
oAe 4t

18,0403 = 1Y * 2A|2t 433
cHIR=RIIHY 96,240& * 1H 1,733

| 22Z& bl 22,448 ,248 1,200

JlE2&l 22,448 ,248 1,200

201 LEt2 Y| 17,468 ,268 1,200

01 At 2t 2l Yl 16,428 ,228 1,200
ORMdE2Y9 JI=2&Hl 300,000& 3,600
OMEBZ2E JA(2AX S) 200,000 2,400
OMHEANRIII 225 2 300,000 3,600
Ooded4d dxz 49,000 588
OF=1=] 8,000 * 13Y¥ = 5 6,240

02 3524l 1,040 ,040 0
oRE2 1,040

202 04| 1,300 ,300 0

01 2LHOHI 1,300 ,300 0
Oblaz2 2 2o 1,300

203 R =AYl 3,680 680 0

02 HJAJPAHFFAH| 680 680 0
OFIAINNMAR =Y 40,000& * 17 680

04 ENSHLR=XH| 3,000 ,000 0
ORNM2IgIRF&Y| 250,000& = 12& 3,000




